Read the problems and solve

A girl has 67 green marbles and 116 blue marbles. How

many marbles are there in all ?

Number of green marbles - -

Number of blue marbles —_—- 4

Total number of marbles girls have

H T O

In a grocery shop, there are 225 bags off maize and 324
bags of rice. How many bags are there in shop ?

Number of maize bags

Number of rice bags —= +

Total number of bags in shop

H T O

There were 220 mango trees and 129 apples tress in an

orchard . How many tress were there in all ?

Number of mango trees .

Number of apple trees —_—  +

Total number of trees in an orchard

H T O

There are 316 women and 522 men in a village. Find the

total number of people staying in village.

Number of women in village

Number of men in village o

Total number of people in village B

H T O




